What is the area of pentagon ABCDE with vertices A(-5, 6), B(1, -7), C(6, 0), D(1, 3), E(1, 6)
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Solution:

1). xzg = x5 = x5 = 1, so the points E, D and B are collinear points.
Hence

Area ABCDE = Area ABE + Area BCD.

2). vy = ¥z = 6 , so AE is parallel y-axis

xg = xg =1 ,so BE is parallel x-axis

Hence the triangle ABE is a right triangle and its area is
1

Area ABE = —(AE X EB)

EB= |y, —vgl=l6+7|=13
1

Area ABE = 5(6 % 13) = 39

3). The points D, H and B are collinear points, so xy = xp =1

1
AreaBCD = —(BD X CH)

BD = |}:I'E—}:I'D|= |_':,|"_3|=1|:|
1

Area ABE = 5(10 x5)=25

Hence Area ABCDE=25+39=64
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